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(A) display (B) tendency
(C) exposure (D) objection

Which of the following is the best title for
this passage?

(A) Luxury Goods: Global Trends and
Prospects

(B) Purchase and Consumption of Luxury
Goods

(C) Shhh...Luxury Goods Are Discounted in
China

(D) Chinese Desire for Luxury Goods
Expands at Rapid Pace
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(A) approaches (B) liberates
(C) qualifies (D) bounces

Which of the following is NOT a reason for
Luxury brands to highly value China’s
market?

(A) The Chinese have strong desire for
luxury goods.

(B) The Chinese have been willing to pay
more than Western consumers.

(C) The Chinese buy a significant proportion
of all luxury goods sold globally.

(D) The Chinese government fully supports

foreign corporations doing business there.
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(A) in order that (B) so that
(C)aslongas (D) as though

Which of the following is NOT used as an
example of discounted goods?

(A) Cartier watches

(B) Hermés dresses and shoes

(C) A Gucci leather shoulder bag

(D) Salvatore Ferragamo Carla leather pumps
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(A) with regard to
(B) in comparison to
(C) by means of

(D) in spite of

Which of the following is closest in meaning
to the word ‘“understated” in the last
paragraph?

(A) Successful (B) Low-key

(C) High-profile (D) Underestimated
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(A) raged
(C) gazed

(B) eased
(D) scared

Why do high-end brands cut the prices of
their merchandise in China?

(A) To solve their inventory problem

(B) To attract more consumers from overseas
(C) To promote the government’s antigraft
campaign

(D) To satisfy Chinese consumers’ huge

appetite for their products
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